Alfa Romeo Challenge 2011 KANSAI Rd.3 & Kyusyu Rd.3 %ﬁ;% EICC [
ETCC Vol.11 Sprint , VWA-Cup & Trial -

RACE-A / ¥ SRR EIRGL (REED+RBEQ)

2011.10. 16
& ILEREY—+F 2 & 3.703km

HTA200 g=

GEIEE BE K54/ — EFIL =% DE QI8 SEtIER A
1 75 JIg  EE 757S/2.0 1 + 1 x 0.8 =1.8
H200 &»
GHIER BE  FoA /15— ey 5% DE QB SEIEEA
i 35 @ EE Y 10757 Isk SGBY 1971750GTVa 1 + 1 x08 =18
2 29 EN m= 20006TV I A7H2H200n 1 2 + 2 x08 =36
3 32 £k &% 1750GTV imozze1750GTV 3 + 3 x0.8 =54
AR150-3 &=w»
GAIERL BE  FSA /1 — EFIL =% DE QI8 SRR A
1 53 RE @#—E8 155TS16V Rosso fiore 155 1 + 1 x 0.8 =1.8
2 68 “ESRY 14718/2.0 K-ENG 4 CRG147 3 + 2 x0.8 =46
3 56 JIE —&R 155V6/2.5 M— < 155V6 4 + 3 x0.8 =6.4
4 101 d# Fm— 15615/2. 0 123054 YSPL 2 + - x08 =62
AR150-4 &=
BEIER EF KSA /38— ETIL HA @l QlE SEtIESRL =
1 96 xR E£Z 14575/2.0 IR7 AR -YDXL KEI 1 + 1 x 0.8 =1.8
2 47 wH E% 1457S/2.0 IW-M145TS 2 + 2 x0.8 =3.6
3 23 =28 FH 1457S/2.0 Rfioreat#3a1145 4 + 3 x0.8 =6.4
4 65  ®Em A= 145T5/2. 0 ARIEE, 7574-145 3 + 5 x08 =10
5 57 A FA 1457S/2.0 IMOZZE145TS 5 + 4 x0.8 =8.2
GAEEL BE  Fo5A /1 — ey =% DE QB SEtER A
1 200 EZE BRY¥T SZ/3.0 AN A SZ 1 + 1 x 0.8 =1.8
2 212 "R IE— BMW E36 JIE Lt i sHIEENUTEC 2 + 2 x0.8 =3.6
3 213 H=H IEA BMW E36 Hib#Fis-NUTECIUANB 3 + 3 x0.8 =54
AR150-2 &n»
BEIER EF K54 /38— ETIL HA @l QlE SEtIEGR =
1 52 ®F &b 156V6/2. 5 THITRR MR 156V6 1 + 1 x08 ~-18
WEIEL 2B FoA /1 — ey =% DE QB SEtIERA
1 208 ®5 & 156V6/2. 5 BB5—5—F 1 + 1 x08 =18
AR150-9 &»
HBEIER HE KSA/3— ETIL HA @l QlE SEtIEGR =
1 15 ME BE— 159JT7S/2. 2 S. Sfidanyy159 1 + 1 x 0.8 =1.8
2 61 AR F = 939 AN {4 - S. SFIDA SPIDER 2 + 2 x0.8 =3.6
3 036 mA B 159JTS-sele K-ENG* CRG159 3 + 3 x0.8 =514
H180 &=
GEIEE BE  FoA /1 — EE=yry =% DE QB SEtIER A
1 39 wmA T 1300 GTJr Th770441300GTEk 1 + 1 x 0.8 =1.8
AR200 ¢»
GAIER BE RS54 /5— ey =% DE QI8 SRR A
1 25 BsE  EAT 155TS16V S. Sfida155TS 1 + 1 x 0.8 =1.8
AR150-6 &=»
BEIEL B PS5/ — ey =% DE QI8 SEtIER A
1 87 SNl N GTJTS/2.0 Keroke-GT 1 + 1 x 0.8 =1.8
2 18 e itk 156TS-sele XENSO156 2 + 2 x0.8 =3.6
AR150-5 &5
GO B PS5/ — ey =% DE QB SEtIER A
1 58 MW £ 155TS8V AYANAYUI 155 1 + 1 x 0.8 =1.8
AR150-8 &»
BEIE ZE RS /— T =% DE I8 SHIEEA

1 60 JE RE 14778/1.6 - HEMNG147 1 + 1 x0.38 =1.8



